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Marks

1 Answer the followmg questlons in one or two smtences Each qu&suon carries |
2 marks. : . . v
1. Why are Bohrs oﬁnt called enexgy levels 2
2. What are strong and weak clectmlytes ? |
3. Name one syrxtheuc palymg whtch is an azmde and give its monomer.
4 Name two gas&s ‘which are responmble for green house eﬁ‘ect
5 Mnchtypcofmeﬁalcanbeusedmaaﬂmdwpmaehonofmnagmnst : ‘
I'UShng" I o B T (5x2“‘“10).“'
PART —B e e
 (Maximum marks : 30) - o

II AnSwer any five quesuans ﬁom the t%ﬂicwmg Each quesuon cames 6 marks ‘
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Write any. hree differences betwem ionic and covalent compounds.
What is nhydr‘o\ ne "ng 7 mustréie w1th an example o (343=6)
State Faraday’s second |

’"_'law of bcﬁ‘elyms and gwe its mathanatlcal

Whatxsmst'? Lxstﬁ:eemdmmof'mmng ¢ - ,(3+3-—-—-6)

What is the umquests of ‘carbmiatom ?

1

What is wnd"‘f‘f sation ? Give one examplc e (3+3= 6)

Write the consumems‘of'ﬂm \

i gaseousﬁlels

) (m) Gobar gas
Wnte one cffect € W : : , »
: () B A o ‘('3-{»3:::6) X



. . : o . ‘Marks
S5 () © What is clech‘oplaﬁng and any two purpdses of electréplaﬁng? , .
(b) List any three merits of Bohr model of atom - - (313=6)
6. (a) ‘Dlshngmsh between orbit and orbital. ) |
(b) Write the pnmple and aZImuthal quantum nmnbcrs of the following

- orbitals. | . _ o
(i) 5d (u) 4s - ‘(111)“4f' - o - (313=6)
7. (a)  Write the monomcm ‘of the follomng polymers. o
() Nylon6 (i) Buna-S (i) Bakelite | _
®) vae a brief dmcnpnon about photochenncal smog. | (3+3=16)

PART —C
- (Maximum marks 60)

(Answer one ﬁdl quesuon from each umt Each full question carries 15 marks.) "
UN]T — 1 |

m (a) 'State He.'lsmbel'gs unoertamty pxmclple The mce:tamty in the position and
o  velocity of a particle are 0.Im and 5.27 X 10 % ms” respectwely Calculate

- the mass of the particle. (h 6. 625 x 10734 kgm?st) i 6
»l.(b)‘ State octet rule. Show how octet rule is followed i in the formation of oxygen B
- and nitrogen molecules. . 5
- (o) Draw the shape of s, px, p and p. orbitals. Lo R 4
: " Or | | | '

IV (a) Wnte de Broglie xelahonskup and explain the tenns Calculatc thc wavclength
o of a body of mass 107 kg movmg with a veloc1ty of 10 ms™! -
(h= 6625x10“~“«kgms ) , T 6

(b) State Pauli’s exchxsmn pnnclple ’The ground state electronic conﬁgurahon hsted
- here are incorrect. Explain what mistakes have been made in each and write
the correct electronic configuration. ‘

A Al — 15%, 2%, 2p4, 352 3p
@) B - ls? 2s’ 2p5
B (i) F-—lsz2sz.2p | o . )
(©) Whatisa datlve bond 7 Gwe two examples. - 4
R e UNIT——II | |
V (a) VWnte down the cell reactlon cell notatlon and oornpute emf : A ‘;tnp of N1

- dipped in Ni?* jons soluuon and a strip of Ag dipped in a solution of Ag ions
- are combmed to form a Gl Gwen INTT/NI = —0.24V, P“Ag /Ag = 0.799V. 6

(b) What is electmchemxcal senes " G1ve any tl‘ircc applications of electrochemlcal
© seriés. : : : o v : 5

() Explam the ch@tmstry bdnnd mstmg Of iron. o . | 4




v , B . _ . e ‘Marks
Y| (@) :Certmn galva:mc cells * are des:gncd to convert chemxcal energy dmectly to
, ‘clecmcal energy :
) '.’\Ia.me the above typc of galvamc cells and one example for it
(i) Represent the reaction taking placc at the electrodes and net cell reaction

v of the above cell N
B (i) Mention . any two apphcatmns of the above oell . | ‘ -6
(b) ‘What 1s anodising and mention any two purposes of it ? . 5

() List any four methods to control eorroswn I T O
 Unr—1n

VII (g) " Dlstmgulsh betwem tl'lea'moplastlcs and mermosemng plastlcs Give two
cxamplcs for each. , ‘ 6

(b) ‘What are refractories ? How is 1t classxﬁed 7 lee one example for each.
(©) Write two tests to dzstmgmsh between saturated and unsaturated orgamc T
compounds R o , 4
o "OR"‘ | - .
- VI (a) Dlstmgmsh bctwem homopolymexs and mpolymcrs with two examples for each, 6
| (b) What is vulcamzahon ? List any three propertws of vulcanized rubber. |
- (¢) What 1san0pt1ca1 ﬁbre‘? leeﬁlreauses oflt 4

U\rr - IV

IX '(é.) : Explam crackmg w1th an cxample Mention any two advantages of catalytxc ,
a .'_,»u;-crackmg over thf:rmal cracking. - | 6

(b) What is acid ram and glve any three consequences of it ?

(c) What are thebaslc axms of ‘green chemistry ? - 4

. ST orT ; SR |

X (a) I Define calonﬁc va]ue of a fuel List any four quahtxcs of a good fuel. 6
B (b) 'Compare solid, liquid and gaseous fuels. R - 5

‘ﬂ.(-c) 'What are pollutants 2 How are’ they classxﬁed ? lee two examples | o 4




